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Level 4 Diploma in Recruitment Management 
RECTC 4-7 – Understanding Finance in Recruitment Management
Past exam paper
Time allowed:  60 minutes
50 marks

· Students are required to answer all questions

· Marks allocated to each unit and question are clearly shown 

· Where appropriate bullet points can be accepted

· Do not penalise students for grammatical/spelling errors

· Annotate the MS where additional, relevant answers are given by students

· mark in red ink

· Ring totals for each of the questions and transfer to front cover

· Indicate you have seen each and every page by marking in red ink

· Do not add personal comments about student performance

· Alert REC to any suspicion of collusion, dyslexia or other problems

· Keep an independent record of student marks in case of mislaid scripts

· Alert REC to any comments, notes etc., in script from student
Rishi is a team leader of the IT temps and contractor desk for More & More Recruitment Ltd (MMR), which operates solely as an employment business.

The average length of assignment for their temps is 120 days and there is a very low renewal rate. Rishi’s team have not hit their targets for the last couple of months and he is under pressure from his director to increase turnover, margin and gross profitability.

MMR pay some of their contractors weekly and some monthly. All contractors are paid within 7 days of receipt of invoice and average debtor days is 30.

Jack, MMR’s Finance Director, has explained to Rishi that MMR is self-funded. 10 months into their financial year, despite the monthly management account is showing that they have achieved £6,000,000 of sales and a gross mark-up of £1,000,000, despite Rishi’s team not performing as well as others.

1. Jack speaks to MMR’s accounts team as he is holding a series of workshops to give them a better understanding of the work involved in financial management for an employment business.

He explains that there are many reasons why MMR has chosen to operate as a limited company, including:

· Limited company implies size

· Limited company status gives credibility

· It offers limited liability to shareholder’s personal assets

· Corporation tax is lower than personal tax which allows an efficient retention of profits

Give two other reasons why MMR would have chosen to operate as limited company. 













(2 marks)

Award 1 mark for each correct answer up to a maximum of 2:
A

Company name / brand is protected






(1 mark)

B

New shareholders / investors are easily introduced 





(1 mark)

C

Pay can be by dividends 








(1 mark)

D

It’s a separate entity 








(1 mark)

E

The entity continues beyond the people  






(1 mark)

R

Any other reasonable answer







(1 mark)

(AC 1.1)
2. Jack goes on to explain that their monthly management accounts need to meet four principal characteristics:

·  
Understandability

·  
Relevance

·  
Reliability 

·  
Comparability

Give an explanation of three of the key areas of focus that Jack will include when he details what is meant by ‘reliability’ in this context.



















(9 marks)
Award 1 mark for each of 3 areas of focus identified and up to 2 additional marks for the correct explanation of each

A
Faithful representation








(1 mark)

AA
This involves words as well as numbers used. 





(1 mark)

AAA
where any doubt occurs it’s important to disclose the risk of error 



(1 mark)

B
Substance over form  








(1 mark)

BB
The method of accounting must reflect the substance of economic reality


(1 mark)

BBB
and not merely its legal form 







(1 mark)

C
Neutrality 









(1 mark)

CC
The information must be free from bias 






(1 mark)

CCC
Independently verified 








(1 mark)

D
Prudence 










(1 mark)

DD
The inclusion of a degree of caution when making estimations 



(1 mark)

DDD
Gains and assets not over-stated and losses and liabilities not underestimated


(1 mark)

E
Completeness 









(1 mark)

EE
The information cannot be relied upon if not complete 




(1 mark)

EEE
An omission can cause the information to be false or misleading 



(1 mark)

R
Any other reasonable answer







(1 mark)

(AC 1.2 and 4.1)
3. Jack then talks about the need to calculate MMR’s gearing ratio.
Explain your understanding of the gearing ratio is and why it’s an important piece of information.












(2 marks)
Award 1 mark for the correct answer and a further mark for the correct explanation.

A
Gearing is the measure of MMR’s debt compared to its equity value.



(1 mark)

B
It’s a measure of financial risk and its ability to meet its debt obligations


(1 mark)

R
Any other reasonable answer







(1 mark)

(AC 3.2)
4. How should Jack define the following terms that are contained in MMR’s balance sheet?

























a) Net Current Assets.








(1 mark)
b)
Long Term Liabilities.







(1 mark)
c)
Shareholders’ Funds.







(1 mark)
d)
Called Up Share Capital.







(1 mark)
Award 1 mark for each correct answer:







A
Current Assets less Current Liabilities 






(1 mark)

B 
Amounts falling due after one year 







(1 mark)

C
This is equal to Net Assets so that the Balance Sheet does balance 



(1 mark)

D
The value of shares that have been allocated, issued and fully paid 



(1 mark)

(AC: 1.4)
5. Rishi calls his team into a morning meeting and talks to them about the many important factors to take into consideration when negotiating/pricing terms of business for the supply of temporary workers.

One of his team ask if they can offer a discount if a client will give the exclusivity of a large volume of vacancies. What should Rishi advise to ensure that the risk to MMR is minimised if a discount is offered?























(4 marks)
1 mark for each correct answer, up to a maximum of 4:
A
It is best to offer the discount once an agreed level of business has been successfully completed 













(1 mark)

B
This could be number of hours / days worked 





(1 mark)

C
Rather than vacancies available or 







(1 mark)

D
contractors placed 








(1 mark)

R
Any other reasonable answer







(1 mark)

(AC 3.1, 4.2, 1.5, 2.4)
6.
Rishi is aware that clients are trying to push for fee percentages to be calculated as mark-up, instead of margin.  

Explain the difference between margin and mark-up.




(2 marks)

Award one mark for each correct answer:
A 
Margin is a percentage on the total client charge rate





(1 mark)

B
Mark-up is percentage of the cost to the employment business 




(1 mark)

(AC 3.3)
7. MMR have had an average of 100 contractors working at any one time over the last 10 months.

Showing your calculations, what is the average invoice amount that each contractor would submit each month?










(2 marks)

Award 1 mark for the calculation and 1 mark for the correct answer

A
Sales – mark-up









(1 mark)


(number of contractors x months)

B
£5,000.00









(1 mark)

(AC 3.3)
8. MMR’s commercial manager, Jim, has asked Rishi to provide the following information that allows him to make more accurate forecasts for sales and profitability figures that will be included in monthly management accounts: 

·  
Number of deals in the pipeline

·  
Value of deals in the pipeline

·  
Timelines – how long does the process take
·    Fixed and variable costs

Give three other factors that Jim should consider when making these forecasts. 














(3 marks)

Award 1 mark for each correct answer, up to a maximum of 3:
A
Seasonality









(1 mark)

B
Historical conversion rates 








(1 mark)

C
Economic landscape








(1 mark)

D
Be realistic and conservative.







(1 mark)

E
Know Breakeven point 








(1 mark)

R
Any other reasonable answer







(1 mark)

(AC 2.5, 2.4, 2.2, 2.1, 3.2)

9.
In terms of cost analysis and allocation, explain why it is difficult for MMR to make a cash flow forecast for more than four months into the future.






(4 marks)



Award 1 mark for each correct answer, up to a maximum of 4 marks:





A
As their average length of assignment is 120 days, it is difficult to predict its 
variable costs 













(1 mark) 

B
Temps pay 









(1 mark) 

C
Commission 









(1 mark)
D
How many temps / contractors will be working for MMR beyond that point 


(1 mark)  

E
Weekly / monthly invoicing 







(1 mark)
R 
Any other reasonable answer







(1 mark)

(AC 2.2, 2.3, 2.5, 2.6, 4.1)
10.
Jack has read many sources that quote the high demand for niche IT skills in the UK and he calls Rishi into a meeting to explain why, if there is such high demand for IT skills, his team is not meeting its targets.


Focusing on pricing issues, explain how Rishi could explain their subdued sales figures.













(4 marks)

Award up to 4 marks, for an explanation that includes:
A
IT is a highly competitive market… 







(1 mark)

B
… with a large number of niche specialists…






(1 mark)

C
… this competition for business can lead to aggressive pricing strategies…


(1 mark)

D
… to win client business








(1 mark)

R
Any other reasonable answer







(1 mark)

(AC 1.5, 3.1)
11.
Using some of the following headings which appear in MMR’s profit and loss, give a simple formula that can be used to calculate the gross profit:
·  
Total Sales

·  
Permanent Placement Fees


·  
Temporary / Contract Sales

·  
Temporary / Contract Wage Costs

·  
Gross Profit

· 
Other Income

(2 marks)

Award 2 marks for each correct answer

A
Total Sales – Temporary Wage Costs = Gross Profit 


         


(2 marks)

B
Permanent Fees + Other Income + Temp Sales –Temp Wage Costs = Gross Profit    

(2 marks)

R
Any other reasonable answer







(2 marks)

(AC 1.4, 1.5)
12.  
Enter the items below into the correct columns and rows of MMR’s trial balance sheet. (Use Additional Answer Sheet)

Profit and Loss Account 

500,000

Intangible Assets 

0

Cash at bank and in hand

50,000

Shareholder funds

950,000

Net Assets

950,000

Net Current Assets

300,000




(6 marks)

     

Award 1 mark for each correct entry, up to a total of 6 marks 


	MMR Ltd
	
	
	
	

	
	
	
	
	

	Balance Sheet  - 31 December 2017
	
	
	
	

	
	
	
	
	

	
	
	2017
	

	
	
	£
	£
	

	
	
	
	
	

	Fixed Assets
	
	
	
	

	Tangible Assets
	
	
	750,000
	

	Tangible assets
	
	
	750,000
	

	
	
	
	750000
	

	
	
	
	
	

	Current Assets
	
	
	
	

	Debtors
	
	400,000
	
	

	 bank and in hand
	
	50,000
	
	

	
	
	450,000
	
	

	
	
	
	
	

	Creditors
	
	
	
	

	Amounts falling due within 1 year
	
	150,000
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	300000
	

	
	
	
	
	

	
	
	
	
	

	Total Assets Less Current Liabilities
	
	
	1,050,000
	

	
	
	
	
	

	
	
	
	
	

	Creditors
	
	
	
	

	Amounts falling due after 1 yearn 1 year
	
	
	 100,000
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	950000
	

	
	
	
	
	

	
	
	
	
	

	Capital and Reserves
	
	
	
	

	
	
	
	450000
	

	Called Up share capital 
	
	450,000

	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	950000
	

	
	
	
	
	

	
	
	
	
	


Answer

	
	
	
	
	

	MMR Ltd
	
	
	
	

	
	
	
	
	

	Balance Sheet  - 31 December 2017
	
	
	
	

	
	
	
	
	

	
	
	2017
	

	
	
	£
	£
	

	
	
	
	
	

	Fixed Assets
	
	
	
	

	Intangible Assets
	
	
	0
	

	Tangible assets
	
	
	750,000
	

	
	
	
	750,000
	

	
	
	
	
	

	Current Assets
	
	
	
	

	Debtors
	
	400,000
	
	

	Cash at bank and in hand
	
	50,000
	
	

	
	
	450,000
	
	

	
	
	
	
	

	Creditors
	
	
	
	

	Amounts falling due within 1 year
	
	150,000
	
	

	
	
	
	
	

	
	
	
	
	

	Net Current Assets
	
	
	300,000
	

	
	
	
	
	

	
	
	
	
	

	Total Assets Less Current Liabilities
	
	
	1,050,000
	

	
	
	
	
	

	
	
	
	
	

	Creditors
	
	
	
	

	Amounts falling due after more than 1 year
	
	
	100,000
	

	
	
	
	
	

	
	
	
	
	

	Net Assets
	
	
	950,000
	

	
	
	
	
	

	
	
	
	
	

	Capital and Reserves
	
	
	
	

	Called Up share capital
	
	
	450,000
	

	Profit and Loss Account
	
	
	500,000
	

	
	
	
	
	

	
	
	
	
	

	Shareholder Funds
	
	
	950,000
	

	
	
	
	
	


(AC 1.2, 1.4)
13. 
Explain the following VAT-related terms:






a)
Output Tax









(1 mark)

b)
Tax Point









(1 mark)

A
Output Tax: The VAT you charge on sales 






(1 mark)

B
Tax point (for services): the date when VAT has to be accounted for - for services, this is usually when the service is performed.








(1 mark)

(AC 1.1)
14.
Give the formula which is used to calculate the Breakeven point.





(2 marks)

Award up to 2 marks for the correct answer:

A
Breakeven Point 
 =   
     
    Fixed Costs
 




(Unit Selling Price - Variable Costs)



(2 marks)
R 
Any other reasonable answer







(2 marks)

(AC 2.1)
15.
Real Time Information filing was introduced by HMRC is 2013. Explain what is meant by the following terms:
a) Earlier Year Update








(1 mark)

b) Employer Payment Summary






(1 mark)
A
EYU is made following the end of the tax year to correct errors or make adjustments to previous year’s submission









(1 mark)

B
EPS is made every month and shows any adjustments to what is paid to HMRC for SMP, SSP etc 












(1 mark)

(AC 1.3)
END OF QUESTIONS
(Total: 50 marks)





___

© Recruitment and Employment Confederation

                                                   Page 2 of 10
Past exam paper

